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A PRI i VoI, SN

T &1 yg—ua (Model Question paper)

HET—10
fawg— e

afe— 3 g 15 famie quiie 80 3HdH

el & foay wmm Ay -
Genral Instructions to the Examinees :
L TR FaUe AU YREUE W AW e fowd |
Candidate must write first his/her Roll No. on the question paper compulsorily.
II. = g & aifad & |
All the questions are compulsory.
M. 9&% U &1 SR & T SRyt # & ford |
Write the answer to each question in the given answer book only.
IV. 56 geei # o @vs &, 99 Wi & So) Ub AR 8 ford |

For questions having more than one part the answers to those parts are to be

written together in continuity.

V. 9% uF & &< 9 3ol wurR J fH usR 1 Ffe /AR / faRrmrE 8F
W 2= W & U BT 8 e A |
Ifthere is any error/difference/contradiction in Hindi & English versions of the

question paper, the question of Hindi version should be treated valid.

[ ]
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VI wvs T G AF Ud W

3 1=10 1
9 11—15 2
ksl 16—25 3
< 26—30 6
Section Q.No. Marks per question
A 1-10 1
B 11-15 2
Cc 16-25 3
D 26-30 6

VIL. w39 S 27 3R 29 ¥ am=aile fAde 8|
There are interal choices in Q No. 27 and 29.

VIIL. 3+ SR YRad & gt & Ml R fafaw | afs &1 % &Rl &wer &
A1 I g & aifad gl v e ok g8 Rl oAl | @reaw 99 W W
B fom 9

Write on both sides of the pages of yours answer-book. If any rough works is to
be done, do it on last pages of the answer-book and cross with slant lines and write

“Rough Work™ on them.

IX. U3 Wl 26 &I ohdl =719 UTh YN W =T 2 |

Draw the graph of Q.No. 26 on the graph paper.
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Eue—3J
SECTION- A

T3 UHMST YT T TAFT BT §Y 588512 A I dHIforT |
Find the value of 588 %512 by using ‘Ekaadhiken Purven Sutra’
| 1 | |

i1y + = +
L x—1 x—4 x-2 x-3
Sol 1 " 1 " |
e x—-1 x-4 x-2 x-3

37 ; ;
Uﬁﬁﬂqusz % TYMAT YR H S30d & fhad 3T & TvErg
afa BrTT?

After how many digits, decimal expansion of rational number

2x5
terminates?

tan52° tan 38" T A ST BIRAY |

Find the value tan52° tan 38’

Ay b AR B WO B AR A SR B awe @ dr g
I BT F/ PIoIC |

Find the angle of elevation of the sun. If length of shadow of a tower
is equal to its height.

TP T dve # §E B RN P fquer R |

Write the locus of the tip of second’s hand in a clock.

i ol Rimgall W ToRa a1l gt ) v faRag |

Write the number of circles passing through three non-collinear points.
T U B U b H AT Gl I B MR S S |

Find the probability of getting a prime number on throwing a die once.
AT Hebedl § At gl Br bl SUMRf amesfay gl 87

What is the shape of red signal light in traffic Signs?

" gite U BT FHIEN Ry |
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Write the equation of “Stopping Sight Distance.”

Yug—¢q
SECTION-B

1. g drr fafr & 7225 &1 @ilge s @il
Find square root of 7225 by ‘Dhunda Yog Method’

12, I8 WAy 991 GeT SI1d BT G 247 2R 2055 61 39 bR A
Pl & 6y Refy # ervwa 7 ura 2
Find the greatest number which divided 247 and 2055 leaving

remainders 7 in each case.

13. @ TS Efa W BHied AN B %A FG B |

P
5
A & B C
R
e
Q
Find the area of shaded portion in the given figure.
P
=
Q
=
A B C
R
=)
Q
~
Q

14, 42 W BR D T F 93 W 9T AR 3@ BT AT B | ¥ B
AT F BT |
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15.

16.

17.

18.

Find the volume of the largest right circular cone that can be cut out of
a cube of edge 42 cm.

T A g 12 Wiex A uid & Y W) v CCTV &A1 o 8 difb
Ui & oY F 13 diex ) gffe WO & amT i AamEa S 9 9 | 39
Reifdr § Uit & we W a8 38, Rrad AR & aEmE R 39T 2 9
BT |

A CCTV camera is placed on the top of a straight 12 Meter high pole
in such a way that traffic can be seen beyond 13 Meter of line of sight
of it. Find the distance from of the foot of pole beyond which the traffic

is visible.

Yurg—4
SECTION- C

UF fgena 98U S BTy foTrdh SIeT &7 AT T OEhd HAET 8
T 12 8|

Find a quadratic polynomials whose sum and product of zeroes are 8
and 12 respectively.

el war=R 201 & 2 15 UST 1 AN S difory, fdeT ndf ug
a,=25-2n ¥|

Find sum of first 15 terms of an A.P. whose n th term is given by
a,=25-2n

Al MR & SRR ¥ x 3R y g0l R s 81 @ W Rerd a1 fawgal
HHE C 9D ¥ W W AAN & R & 3199 BT U g &
T #1 fig #IRT 5 AMR @ B o B

The angle of elevation of the top of the tower from two points C and D
at adistance of x and y from the base of the tower in the same
straight line with it are complementary. Prove that the height of the

toweris /xy.
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19. TdH AABC F WfEAHT AD, BE iR CF U fag G & Tore &l afe
AG= 5%, BE= 12 941, 3iR FG= 394 &1 a1 AD, GE 3R GC =
i
Medians of a AA4BC are AD, BE and CF passes through a point G, If
AG=5cm, BE=12 cm and FG= 3 cm then find AD, GEand GC.

20, @ E agla # PQ SR RS WWRR & A1 g dI A POQ ~ ASOR

R

Q

In the given figure PQ and RS are parelled, prove that
APOQ ~ ASOR
R
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21, gfa § ABCD T& I#M Iduel 81 a AR b HT 91 3Md SN |

22, UF 4 W U #1799 HifEN S9 W AT el YN 59 UK Wiy
T TIREQR 70" BT BT AT 2T
Draw a pair of tangents to a circle of radius 4 cm. Which are inclined
to each other at an angle of 70°.

23 U gd & URE UF o & URAT B aveR B, AfE I P G 484 T
Hrex &1 a1 99 &7 el S BTy |
Circumference of a circle is equals to the perimeter of a square, if the
area of a square is 484 sq.meter, then find the area of the circle.

24, Q1A & USRI ABa! HT SN 9 - 16 B | D RG] BT A
ST BT |
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25.

26.

27,

The ratio of surface areas of two spheres is 9:16 find the ratio of their
Volumes.

52 Ucdi @1 =] YHR A Bl TE Uh TSl H ¥ U Yol [HabTar Sidr
g fFrefaRaa @1 ura & 31 widear g9 S & o

(1) Pled T @ B,

(2) UM &1 39 B,

3)  BEA BB,

A card is drawn from a well shuffled pack of 52 cards. Find the

probability of the following that card is

(1) Black,
(2) Ace of heart,
(3) Spade
Wls—q
SECTION- D

o1 Waes AHIEROT T BT AT e | ga $INTY Ter gEa!
HERAT ¥ ‘a’ 1AM S I S6E 4x+3y=a F

x+3y=6 ; 2x—3y=12

Solve the following pair of linear equations by graphical method and
find value of ‘a’ Whereas 4x+3y=a, x+3v=6 ; 2x-3y=12

(1) g P cos*B+sin*@=1-2cos* Bsin’ @

. 1+tan® A I—tanAY .
- =tan" A 50

(ii) Tz i I+cot® 4 1—cot A [0s4<45']
SIRE

i secB+1

(i) Fag T | =cotO+ cosecd

. cos A cos A4 .

(n)afe ——=m T ———=n =& d &g Ffse

cos B sin i3

(m: +n:)cos: B=n"
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28.

29.

(i) Prove that cos® 6+ sin*@=1—2cos’ Bsin’ @

1+tan” A (l—tanA
l+cot’ 4 l—cotA

(ii) Prove that ( ] =tan’ 4 [0=4<45"]

OR

secH+1

(i) Prove that [ J = cotO + cosecd

secl—1

cos A
sin B

(ii) Ifw= m and =n _than prove that (m: +n:)c053 B=uw
cos BB

g1 ABC &1 Hifeassmsii &l a=TE s S | e @ie A(3,-2), B
(0,6) 3R C (-2,4) ¥
Vertices of the tringle ABC are A(3,-2), B (0,6) and C (-2,4), then find
the length of its medians.
fag TN fF <1 wren Ol & eawdl &7 U S9! Wa Jersit
& quif & oruId & WHM BT & |

3erar
ot wHaTg st ABC @1 9ol BC WX U& fa5 D 39 oK Rerd &

f BDzéBC 2 o Rig PIRT| oAD?—7AR:

Prove that the ratio of the areas of two similar triangles is equal to the

ratio of square of their corresponding sides.
OR
If a point D on the side BC of an equilateral triangles ABC such that

1
BD=—BC | thenprovethat gaAD?=7AR>
J

[o]
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30, 9 IRERAT 429 @ "R g WISt S Hifee |

it 0—8 | 816 | 16—24|24—32 | 32—40] 40—48

f. 42 30 50 22 8 5

Find the mean and median of given frequency distribution.

Class Interval 0—8 | 8—16| 16—24| 24—32| 32—40| 40—48

. 42 30 50 22 8 5
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IR dIfeidt

gug— I

Sx6/88x12
301056

x—l+x—-4=x-24+x-3
2x-5=2x-5
T e W

37 2 74
x5 2 100
=074 I 3A®

tan52° tan (90“ -52°)

tan 52" cot 52" =1

B
h
— e
A h C
tanf =1 6=45"
9
TE
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10.

11.

12.

13.

14,

15.

W B = vl @ + oraRe i
Tus— §
A & i 2 fores W
72
o]

2
8
St

S

| § | I I U
J7225 =85
247—7 = 240 G 2055—7 = 2048
o o fafer &
H.CF. 112
3 TR

r=7cm

BRIdT ¥FT BT &5l = 3

mrt mrt
=+
2

3 122

=—x—x7x7

4 7
SEFd= 1155 T T,
r=21 WHL T h=42 9

I’:lm':h

3

1 22
V=ox—x21x21x42

377
I'= 19404 ©= ¥
o & Harg = 12 Hied
agqf%ﬁma%a@ﬁ; 13 Wiew

& LIE

o 12 Hlex
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16.

17.

18.

BC* = AC* - AB’
BC*=(13) -(12)

BC? =169—144
BC* =25
BC= 5 HieX
Yvg— Y9

AR gy + px+¢ AT T
a=k A W

Do sk
]

_o12 = =12k
(2}

e Fow f((J‘:—S,\'+12)
a =23, a,=21,a,=19

ATT a=23, d=-2

s = %[3(23)+ 14(-2)]

15
x18=135
2

ICEECRIERE

D Ce—y — B

< ‘l-'
g h
AABC ¥ tanf=—
=
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AABD © ta11(90”—6"):c0t6:ﬁ
»}:
W
=L
(1)a@ -
h=/xy

19.

B D

o G AT BT 21 W 3 o e g

AD= % AG=T5cm

GE=1pE-
2

_
w5

=4cm

GC=2FG=06¢m
20,  APOQ T ASOR ¥
ZOPO =2 RSO (UHTR SHIvl)
ZPOO =28SRO (THIR HI0)
APOQ ~ASOR (A4 T 1 9)
2. FE W 4+7+50+8 =180°

= a+5h=165" e (1)
qAa 2g+3"+4h—3" =180

= 2a+4h=180" .. (2)
(1) T (2) BT B T W

a=40", h=25"
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22.

23,

24.

25.

26.

gd & @8 T BT

180° —70° =110° M &= W

g Pl AT B W

i e R 1 e s o e i B
el YT B A BV 70° WIS e WY
T FT ETFA = 484 e’

ﬂ‘ffﬁlﬂGﬂ =22cm
gad & uRE = g7l &1 afam — 400
=88cm
2mr =88
= r=14cm
4’ 9 n 3
—=— = —=—
4rr” 16 r, 4
T
LA A
3T AU = 4 5 1’ o4
5 1
P (@Tel ¥ &1 97ll) = =2
p 1
(U T SFbI) o
|
P g &1 ) =o =7
wus—q

X+3y=6 9 2x-3y=12 ¥ 4 fag =

TR T (TAH THEROT ) T U H
TR MeIfad 9 W)
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27

(ii)

x=6 Ty=0 3 & W

a =24 FF A W

(i) (cos0) +(sin*6) formr m

(cos* 6+sin’ 6) —2sin* 6 cos’ 6 fomrt W
cos’O+sin’f=1 Y& W

RHS =1-2cos 0 sin’ 6 &F W

l+tan* A=sec’4 9 l+4cot’ 4= cosec’ A

o ™

1+tan’ 4 s ”
————=tan" 4 g W
l+cot™ 4
N | sind Y
I-tand) | cosA
1-cot A | cosA
sin A4
cosA—sindY 5
—— | (tan” 4
(sinA—cosAJ ( ) W
=tan" A o N
ST
(sec?+]): o w
sec -1
secO+1
= M
tan@
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cotO+cosecd &M W

cos’ 4 cos’ A ;
— e — cos” B
cos” B sin" B

5 5 | 1
cos’Acos’B( e— ]
cos” B sin” B

cos® Acos? B[ sin” B+cos” BJ

cos” Bsin® B
sin® B+cos” B=1

cos” A

n

sin” B

(0. 6) (-2, 4

D(-1.5) E(1/2.1) F(3/2.2)

YL [0) I 65
AD=A[65 BE=""— CF=>-
\EIS < Qail\é m

fear gam 8, Wl foem w
g e, we o W
T, wel fora
Syt # waeuar Frm @ ]F1 Grget ®r
ey g H W)
Iy Suafy & Uel & wE Rig W

31T
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MeRfT A& T W
A
I
I
I
I
I
L] ,
B D E c

AP AABE H 42 — 4F7 4 B2

, , : [
T AE":AB’—(%B('J M W ['.'BE:EB(]

30.

WHET A ADE  #

AE? =AD* —(BE-BD) @MW
364D - AB ——

36
&1 FHIE0IT B FEEar |
3AB®  36AD° - AB?
4 36 el 7

W TB 94D* =748
o[ OX
AR BT Wel Wl fera )
i i HEZHM x,
0-8 42 4

8-16 30 12
16-24 50 20
24-32 g9 28
32-40 8 36
40-48 5 44

7 oy fafey ¥ ARl 98 g9 W
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e = Ziffx o Tt oty &1 wd 5=
o ™
Y. fx=0652 7 Y. f=157
2652
Tl HE = 157
WA NG AT =16.89 U &R TN
aif & af
0-8 42 42
8-16 30 72
16-24 50 122
24-32 22 144
32-40 8 152
40-48 5 157 &M ™
N_o
M=1+|2—|n
/
/=16,¥=785, C=72, f=50, h=8
Ty (78.5—72}
50

M=17.04 M R
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